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QUESTION 1

You are configuring transparent mode on an SRX Series device. You must permit IP-based traffic only, and BPDUs
must be restarted to the VLANs from which they originate. 

Which configuration accomplishes these objectives? 

A. bridge { block-non-ip-all; bpdu-vlan-flooding; } 

B. bridge { block-non-ip-all; bypass-non-ip-unicast; no-packet-flooding; } 

C. bridge { bypass-non-ip-unicast; bpdu-vlan-flooding; } 

D. bridge { block-non-ip-all; bypass-non-ip-unicast; bpdu-vlan-flooding; } 

Correct Answer: A 

 

QUESTION 2

A customer has recently deployed a next-generation firewall, sandboxing software, cloud access security brokers
(CASB), and endpoint protection. 

In this scenario, which tool would provide the customer with additional attack prevention? 

A. Junos Space Cross Provisioning Platform 

B. Contrail 

C. Security Director Policy Enforcer 

D. Network Director Inventory Manager 

Correct Answer: C 

 

QUESTION 3

Which AppSecure feature identifies applications that are present in traffic? 

A. AppID 

B. AppTrack 

C. AppFW 

D. AppQoS 

Correct Answer: A 

 

QUESTION 4
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Click the Exhibit button. 

Referring to the exhibit, you have expanded the disk storage size in ESXi for your log collector from 500 GB to 600 GB.
However, your log collector\\'s disk size has not changed. 

Given the scenario, which two statements are true? (Choose two.) 

A. You must run a script from the console to expand the disk size. 

B. The ESXi storage parameter is not associated with the Elasticsearch disk size parameter. 

C. You must reboot the log collector for storage settings to be updated 

D. You must re-run the log collector setup script to update the storage settings. 

Correct Answer: AC 

 

QUESTION 5

Which three components are part of the AppSecure services suite? (Choose three.) 

A. IDP 

B. Sky ATP 

C. AppQoS 

D. AppFW 

E. Web filtering 
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Correct Answer: ACD 
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